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efJe<eÙe : meceepe-MeeŒe
Subject : Sociology

meceÙe : 3 Iebšs] [hetCeeËkeâ : 80
Time : 3 Hours] [Maximum Marks : 80

efveoxMe : (i) ØeMveeW keâer kegâue mebKÙee 38 nw~

Total number of questions is 38.

(ii) meYeer ØeMve DeefveJeeÙe& nQ~

All questions are compulsory.

(iii) ØeMve ›eâceebkeâ 1 mes 20 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 1 Debkeâ DeeJebefšle nw~ Fvekesâ

Gòej 20 MeyoeW mes DeefOekeâ veneR nesvee ÛeeefnS~

Question Nos. 1 to 20 are very short answer type questions. Each question

carries 1 mark. Answer to each question should not exceed 20 words.

(iv) ØeMve ›eâceebkeâ 21 mes 29 lekeâ ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 2 Debkeâ DeeJebefšle nQ~ Fvekesâ

Gòej 30 MeyoeW mes DeefOekeâ veneR nesvee ÛeeefnS~
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Question Nos. 21 to 29 are short answer type questions. Each question carries

2 marks. Answer to each question should not exceed 30 words.

(v) ØeMve ›eâceebkeâ 30 mes 35 lekeâ oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 4 Debkeâ DeeJebefšle nQ~ Fvekesâ

Gòej 80 MeyoeW mes DeefOekeâ veneR nesvee ÛeeefnS~

Question Nos. 30 to 35 are long answer type questions. Each question carries

4 marks. Answer to each question should not exceed 80 words.

(vi) ØeMve ›eâceebkeâ 36 mes 38 lekeâ Deefle oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 6 Debkeâ DeeJebefšle nQ~

Fvekesâ Gòej 200 MeyoeW mes DeefOekeâ veneR nesvee ÛeeefnS~

Question Nos. 36 to 38 are very long answer type questions. Each question

carries 6 marks. Answer to each question should not exceed 200 words.

(Deefle ueIeg GòejerÙe ØeMve)

(Very Short Answer Type Questions)

ØeMve—1. pevemebKÙee keâer ‘DeeÙeg mebjÛevee’ keâe keäÙee DeLe& nw ?

What is meant by the 'age structure' of the population ?

ØeMve—2. Lee@ceme je@yeš& ceeuLeme keâewve Les ?

Who was Thomas Robert Malthus ?

ØeMve—3. ‘DeÂMÙe neLe’ keâe keäÙee leelheÙe& nw ?

What is meant by the phrase 'Invisible hand' ?
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ØeMve—4. Øeefle‰e keâe Øeleerkeâ keäÙee nw ?

What is a status symbol ?

ØeMve—5. meeceeefpekeâ efJe<ecelee keâe keäÙee DeLe& nw ?

What is the meaning of social discrimination ?

ØeMve—6. hetJee&«en keâe leelheÙe& keäÙee nw ?

What is the meaning of prejudice ?

ØeMve—7. je°^ keâes heefjYeeef<ele keâjvee keäÙeeW keâef"ve nw ?

Why is it difficult to define the Nation ?

ØeMve—8. #es$eJeeo keäÙee nw ?

What is regionalism ?

ØeMve—9. veiejerkeâjCe keäÙee nw ?

What is urbanisation ?

ØeMve—10. DeewÅeesieerkeâjCe mes keäÙee leelheÙe& nw ?

What is the meaning of Industrialisation ?

ØeMve—11. yeÇÿe meceepe keâer mLeehevee keâneB ngF& ?

Where was the Brahma Samaj established ?

ØeMve—12. meceepe megOeej Deeboesueve keâewve-meer meoer ceW ØeejbYe ngDee ?

In which century did the social reforms movement started ?
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ØeMve—13. mebefJeoe Kesleer keäÙee nesleer nw ?

What is contract farming ?

ØeMve—14. Yetefcenerve cepeotj mes keäÙee leelheÙe& nw ?

What is the meaning of landless labour ?

ØeMve—15. keâeceieej nÌ[leeue hej keäÙeeW ieS ?

Why did workers go on strike ?

ØeMve—16. ØeJeemeer keâeceieej mes keäÙee DeeMeÙe nw ?

What is the meaning of migrant workers ?

ØeMve—17. Yet-mLeeveerkeâjCe keäÙee nw ?

What is Glocalisation ?

ØeMve—18. Yeej jefnle DeLe&JÙeJemLee keâe keäÙee DeLe& nw ?

What is the meaning of weightless economy ?

ØeMve—19. ‘efo heeÙeefveÙej’ efkeâme meved ceW DeejbYe ngDee ?

In which year 'The Pioneer' started ?

ØeMve—20. Yeejle ceW jsef[Ùees ØemeejCe keâye Meg™ ngDee Lee ?

When was the Radio Broadcasting started in India ?

(ueIeg GòejerÙe ØeMve)

(Short Answer Type Questions)

ØeMve—21. Œeer-heg®<e Devegheele keâe keäÙee DeLe& nw ?

What is meant by the 'Sex-Ratio' ?
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ØeMve—22. Yeejle ceW keâewve-keâewve mes jepÙe pevemebKÙee mebJe=efæ kesâ ‘ØeeflemLeeheve mlejeW’ keâes Øeehle keâj Ûegkesâ nQ DeLeJee

Øeeefhle kesâ yengle vepeoerkeâ nQ ?

Which states in India have reached or very near the ‘replacement levels’ of

population growth ?

ØeMve—23. Yeejle ceW cewuee {esves JeeueeW keâer mebKÙee efkeâleveer nw ?

What is the number of sweepers in India ?

ØeMve—24. veejer Deeboesueve ves Deheves Fefleneme kesâ keâewve-keâewve mes cegKÙe cegös G"eÙes ?

What are the major issue taken up by the women's movement over its history ?

ØeMve—25. DeeOegefvekeâ meceepe ceW je°^ Deewj jepÙe kewâmes mebyebefOele nQ ?

How are nation and state related in modern society ?

ØeMve—26. heefMÛeceerkeâjCe keâe keäÙee DeLe& nw ?

What is meant by westernisation ?

ØeMve—27. mebmke=âleerkeâjCe keäÙee nw ?

What is meant by sanskritisation ?

ØeMve—28. Yeejle kesâ ØeLece DeeOegefvekeâ GÅeesie keâewve-keâewve mes Les ?

Which were the first modern industries of India ?

ØeMve—29. GoejerkeâjCe ves jespeieej kesâ ØeefleceeveeW keâes efkeâme Øekeâej ØeYeeefJele efkeâÙee nw ?

How has liberalisation affected towards employment patterns ?

(oerIe& GòejerÙe ØeMve)

(Long Answer Type Questions)

ØeMve—30. yeepeej hej meceepeMeeŒeerÙe Âef°keâesCe, DeeefLe&keâ Âef°keâesCe mes efkeâme lejn Deueie nw ?

How does a sociological perspective on markets differ from on economic one ?
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DeLeJee / OR

GoejerkeâjCe mes keäÙee leelheÙe& nw ?

What is meant by liberalisation ?

ØeMve—31. meebØeoeÙeJeeo keäÙee nw ?

What is communalism ?

DeLeJee / OR

DeuhemebKÙekeâeW keâes mebj#eCe osves kesâ efJe<eÙe ceW [e@. Decyes[keâj kesâ efJeÛeej efueefKeS~

Write down the ideas of Dr. Ambedkar about protection of minorities.

ØeMve—32. GheefveJesMeJeeo keâe nceejs peerJeve hej efkeâme Øekeâej keâe ØeYeeJe heÌ[e nw ?

How has colonialism impacted our lives ?

DeLeJee / OR

mJeleb$e Yeejle ceW DeewÅeesieerkeâjCe kesâ efJekeâeme keâer meb#eshe ceW ÛeÛee& keâerefpeS~

Explain in brief the development of Industrialisation in Independent India.

ØeMve—33. mJeleb$elee kesâ yeeo «eeceerCe meceepe ceW keäÙee heefjJele&ve ngDee ? mhe° keâerefpeS~

What type of transformation took in rural society after independence ? Explain

it.

DeLeJee / OR

cepeotjeW kesâ mebÛeej mes «eeceerCe meceepe hej keäÙee ØeYeeJe heÌ[lee nw ?

What is the effect of labour circulation in rural society ?
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ØeMve—34. Skeâ Yetceb[ueerke=âle DeLe&JÙeJemLee kesâ efJeefMe° ue#eCe keäÙee nQ ?

What are the special characteristics of a Globalised Economy ?

DeLeJee / OR

mebmke=âefle hej Yetceb[ueerkeâjCe kesâ ØeYeeJe keâer meb#eshe ceW ÛeÛee& keâjW~

Explain in brief the effect of Globalization on culture.

ØeMve—35. YeejleerÙe Yee<eeDeeW ceW meceeÛeej he$eeW keâer meHeâuelee kesâ yeejs ceW meb#eshe ceW efueefKeS~

Write in brief about the success of Newspaper in Indian language.

DeLeJee / OR

šsueerefJepeve ceeref[Ùee kesâ Éeje pees heefjJele&ve nes jne nw ? mhe° keâerefpeÙes~

Clarify the changes by media of television.

(Deefle oerIe& GòejerÙe ØeMve)

(Very Long Answer Type Questions)

ØeMve—36. peeefle JÙeJemLee ceW he=LekeäkeâjCe Deewj DeefOe›eâce keâer keäÙee Yetefcekeâe nw ?

What is the role of the ideas of separation and hierarchy in the caste system ?

DeLeJee / OR

peeefle keâer meeceevÙe efveOee&efjle efJeMes<eleeSB keäÙee nQ ?

What are the commonly cited defining features of caste ?
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ØeMve—37. hebÛeeÙeleer jepe keâer ef$emlejerÙe JÙeJemLee kesâ yeejs ceW meb#eshe ceW efueefKeS~

Write in brief about the three tier system of Panchayati Raj.

DeLeJee / OR

hebÛeeÙeleeW keâer MeefòeâÙeeB Deewj GòejoeefÙelJeeW keâer JÙeeKÙee keâerefpeS~

Explain the powers and responsibilities of Panchayats.

ØeMve—38. meeceeefpekeâ heefjJele&ve leLee meeceeefpekeâ Deeboesueve ceW keäÙee Deblej nw ? JÙeeKÙee keâerefpeS~

Explain the difference between social change and social movements.

DeLeJee / OR

meeceeefpekeâ Deeboesueve kesâ ue#eCe kesâ yeejs ceW meb#eshe ceW efueefKeS~

Write in brief about the characteristics of social movement.

——


